DINOSAURS
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Fill in the blanks, using words from the box.
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Between 65 and 200 million years ago life on ____________ mainly consisted  

of Reptiles. The ___________  known of these creatures were the dinosaurs. 

The Tyrannosaurus Rex was the largest of the  ___________________  

dinosaurs and was over 100 feet from ____________  to tail. It was orange 

_____________ in colour and had a ____________  hide. Its two legs were 

____________ and it used its long tail as a  _____________  to keep its 

balance. It had two little  ____________  rather like a squirrel, a thick short 

neck and a  ___________head. Its jaws were long and ______________ , very 

like those of a crocodile and as it was a ______________ eater its teeth were 

large and sharp.

The Triceratops was ____________ than half the size of the Tyrannosaurus but 

it was  a fierce  _____________ green beast. Its name arises from the fact that 

it had three horns, two large ones which _____________  forwards from just 

above its eyes and a shorter slightly  _____________ one on the end of its 

nose. It had a heavy ____________ and its four legs were ____________ and 

stumpy. Its skin was like a coat of ____________ and it had an extra collar 

around its ____________  to help protect it when it was  _____________. The 

Triceratops was not unlike a  ______________  in shape but was quite a lot 

_____________ and had a thick, long tail which was so ____________  it 

could have knocked over a ____________  with ease.
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Rhinoceros		arms		bigger		armour	head


Body			strong		earth		dark		best


Pointed		fighting	neck		meat


Fearsome		curved		car		over


Two-legged		domed		short		support


Thick			less		brown  	immense
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